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PREMODEL EXAM PAPER - III 

nghJ mwpT 
GENERAL STUDIES  

 
jhs; - III  

PAPER – III  
 

myF – I  
UNIT – I 
gphpT – m  
Section A 

 
Fwpg;G:  
 

i. xt;nthU tpdhtpw;Fk; 150 nrhw;fSf;F kpfhky; tpilaspf;fTk;  
Answer not exceeding 150 words each.  

 
ii. xt;nthU tpdhtpw;Fk; gj;J kjpg;ngz;fs;  

Each question carries ten marks.  
 

iii. nfhLf;fg;gl;Ls;s Ie;J tpdhf;fspy; vitNaDk; ehd;F tpdhf;fSf;F kl;Lk; 
tpilaspf;fTk;. 
Answer any four questions out of five questions.  

4 × 10 = 40 
 

1. Explain the role of the Constituent Assembly in the making of the Indian 
Constitution.  
,e;jpa murpay; rhrdj;ij cUthf;Ftjpy; murpay; eph;za rigapd; 
gq;fpid tpsf;Ff. 

 
2. Evaluate the federal features of the Indian Constitution.  

    ,e;jpa murpayikg;gpd; $l;lhl;rp rpwg;gpay;Gfis kjpg;gpLf.  
 

3. State reasons for which Indian Citizenship can be terminated.  
     ,e;jpa FbAhpik uj;J nra;ag;gLtjw;fhd fhuzq;fisf; $Wf.  
 

4. What are the important legislative measures to safeguard the rights of women? 
    ngz;fs; chpikfis ghJfhg;gjw;fhf mikf;fg;gl;Ls;s Kf;fpakhd 
 rl;lq;fs; ahit? 
 



 

2 
 

5. Discuss the role of Cabinet in India. 
     ,e;jpa mikr;ruitapd; gq;fpid tpthjp 
 

gphpT – ,  
Section C 

 
Fwpg;G: i. xt;nthU tpdhtpw;Fk; 150 nrhw;fSf;F kpfhky; tpilaspf;fTk;  
Note    :   Answer not exceeding 150 words each.  
   ii. xt;nthU tpdhtpw;Fk; gj;J kjpg;ngz;fs;  
  Each question carries ten marks.  
   iii. nfhLf;fg;gl;Ls;s ehd;F tpdhf;fspy; vitNaDk; %d;W  
   tpdhf;fSf;F kl;Lk; tpilaspf;fTk;. 
  Answer any three questions out of four questions.  
 

3 × 10 = 30 
6. Write an count on the different types of soils in India 

,e;jpahtpd; gy;NtW kz; tiffs; gw;wp xU njhFg;G tiuf. 
 

7. Write an essay on the sources of irrigation in India 
,e;jpahtpd; ePh;g;ghrd Mjhuq;fis Fwpj;J Xh; fl;Liu vOJf. 

 
8. Briefly explain about Solar System. 

#hpa kz;lyj;ijg; gw;wp RUf;fp vOJf 
 

9. Explain the river system in Tamilnadu. 
 jkpo;ehl;bd; MWfis gw;wp tpsf;fp vOJf 

 

myF – II  
UNIT – II 

Answer EITHER Tamil questions (Section A and B)  
OR 

English questions (Section C and D)  
jkpo; tpdhf;fSf;Nfh (gphpT – m kw;Wk; M)  

my;yJ  
Mq;fpy tpdhf;fSf;Nfh (gphpT , kw;Wk; <) tpilaspf;fTk;  

 
     gphpT – m  
          Section A 

(jkpopy; kl;Lk; tpilaspf;fTk;)  
 

Fwpg;G : i. xt;nthU tpdhtpw;Fk; 150 nrhw;fSf;F kpfhky; tpilaspf;fTk;  

   ii. xt;nthU tpdhtpw;Fk; gj;J kjpg;ngz;fs; 
      iii. nfhLf;fg;gl;Ls;s Ie;J tpdhf;fspy; vitNaDk; ehd;F  
   tpdhf;fSf;F kl;Lk; tpilaspf;fTk;. 
 

4× 10 = 40 
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10. Highlight the twin epics of later Sangam literature.  
gpw;fhy rq;f ,yf;fpaq;fshd ,UngUk; fhg;gpaq;fis xsp&l;Lf.  

 
11. Write an essay on the cave sculptures patronised by the Pallava dynasty.  

gy;yth; Ml;rpapy; Mjhpf;fg;gl;l Filtiur; rpw;gq;fs; gw;wp tpsf;Ff. 
 
12. Examine the status of women in Tamil society during the Sangam Age.  

rq;ffhy jkpo;r; r%fj;jpy; ngz;fspd; epiyia Ma;f. 
 
13. Write a note on Tamil Virtual Academy. 

jkpo; ,iza fy;tpf;fofk; gw;wp vOJf. 
 
14. Mention the agricultural rituals. 

Ntshz;ikr; rlq;Ffs; gw;wp Fwpg;gpLf. 
 

gphpT - , 
SECTION – C  

(Should be answered only in English)  
 
Note    :   i. Answer not exceeding 150 words each.  
  ii. Each question carries ten marks.  
  iii. Answer any four questions out of five questions.  

 
4× 10 = 40 

15. Make a precis of the following paragraphy:  
 

We should face facts as they exist. We are multilingual it is true, and a very poor 
country too. The fear of getting employment or not getting employment springs, 
out of that poverty of ours. But. once we took courage in both our hands and 
began to work, poverty would vanish, and then those languages which have 
created a narrow regional spirit instead of being the curse that they seem to us 
today, would function as a magnificent vehicles of expression for the rich variety 
of cultural patterns and modes of living and thought that we have developed. Let 
us hope that day dawns very soon. A regional language as the medium of 
instruction can facilitate the process of education. It helps the child to learn with 
ease and interest. But if it is thrust on an unwilling minority used to another allied 
languages it can vitiate the very process of education. It is supposed to help and 
would create difficulties of a socio-political nature 

 
16. Make a precis of the following paragraphy:  

 
Man, as he is, is not to be regarded as the crowning glory of evolution. The story of 
life on earth goes back to a thousand million years. In each geological period there 
have appeared creatures which might have been represented as the highest types 
of creation. Yet, those forms of life have been superseded by others. When we look 
at the steady climb of life in the path of evolution it is presumptous to assume that 
man, the latest product is the last word or the final crowning glory and with his 
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arrival the steps of evolution have come to a sudden end. If the past is any clue to 
the future, we cannot regard mankind as anything more than a stage in life's 
progress, and a milestone on the path of evolution towards a greater future. The 
next stage is not in his physiques but in his psyche, in his mind and spirit, in the 
emergence of a larger understanding and awareness, in the development of a new 
integration of character adequate to the new age. Man must purge himself of his 
intolerance, his love of power and we have to fight for this order first in our own 
souls, then in the world outside. The above view was held by Dr. Radhakrishnan. 

 
17. Read the following passage carefully and answer the questions given below: 

 
Earlier leaders treated Parliament with deference because they believed in the 
virtue of Parliamentary democracy, in the value of good precedents, and in the 
laying down and carrying out of policies with the consent of people or their 
representatives It was not easy, for with vast burden of illiteracy, the country had 
started with adult suffrage. 
 
To them, there was no other way. With many limitations, they enabled three 
general elections to become an impressive demonstration of the working of the 
world’s largest democracy. Any democracy, whatever the forms and the rules is 
government by deliberation and it demands capacity for debate, and they taught 
the lesson ceaselessly. Democracy must ensure good government, it must allow 
criticism and correction, it means balances and checks. 
 
Parliamentary democracy demands many virtues. It demands, of course ability. It 
demands a certain dedication to work. But it demands also a large measure of co-
operation, of restraint, of self discipline. They said that they could claim that 
Parliamentary democracy had functioned with a large measure of success in the 
country. They did not claim any credit for themselves, they gave all the credit to 
the people. 
 
Questions 
 

1. Why did earlier leaders treat Parliament with respect? 
2. What do you understand by the phrase ‘vast burden of illiteracy?’ 
3. How should government function in a democracy? 
4. What virtues are necessary in a democracy? 
5. Why did they disclaim any credit for themselves for the success of 

democracy in the country? 
 

 
18. Read the following passage carefully and answer the questions given below: 

 
Apropos the article ‘Children of a Lesser God’ by PK Arun (HT March 28) in the 
context of the Public hearing on child labour, organised by the campaign against 
child labour. It is obvious that more heat than light has been generated on the 
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issue of child labour. One has to find out as to why children are forced to work as 
labourers. Is it by choice or compulsion? 
 
Leaving aside bonded labour, none will like his/her children to work as labourers, 
All would like their children to attend school and be educated. And ultimately, it 
is for the children to pursue studies and not run away from school. However, 
more often  than not, most of the children working as labour in towns and cities 
are school dropouts because they have found study to be too difficult. I have come 
across many children, who are unwilling to study despite being provided free 
tuitions. They consider studying to be the most difficult work. They repent only 
when it is too late. After all, one can take a child to school, but can not force him to 
study. 
 
The government is guilty only to the extent that it has failed to provide free and 
compulsory education to all children between the ages of 6 and 14 years and 
provide suitable facilities within walking distance of all families. Providing free 
meals to children has also not succeeded. 
 
In case the children do not study and are not gainfully employed, they become 
vagabonds and indulge in anti-social activities, thereby becoming a problem for 
the family and for society. Under these circumstances, it is better for the children 
to be employed i.e. occupied in their traditional profession or at some other place. 
 
Questions 
 

1. Why does the writer say that the issue of child labour has generated more 
heat than light? 

2. How do children change from students to working labour? 
3. Why can’t the parents and authorities be totally blamed for child labour? 
4. To what extent is the Government guilty? 
5. Why should the children work in case they do not study? 

 
19. Read the following passage carefully and answer the questions given below: 

 
Religion can be defined as a system of beliefs and practices by means of which a 
group of people struggle with the ultimate problems of human life. It is the refusal 
to capitulate to death, to give up in the face of frustration and allow hostility to 
tear apart one’s human associations. 
 
All men experience these unending difficulties to some degree. For some persons 
however, they stand out as the most significant experiences of life. These 
individuals are impelled to try to discover some meaning in what seems to be 
senseless suffering some find a road to salvation through the obstacles of human 
life. 
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The beliefs and rites that make up a religion are the expressions of those who have 
felt the problems most intensively, who have been most acutely sensitive to the 
tragedies of death, the burdens of frustration, the sense of failure, the disruptive 
effects of hostility, powered by the strength of their feelings, such religious 
innovations have created ‘solutions’ that frequently have burst the bonds of man's 
sense and of nature, that have brought their adherents some relief. Thus religions 
are built to carry the ‘peak load’ of human emotional need. 
 
Defined in this way, religion is and seems likely to remain an inevitable part of 
human life. Although the ways of struggling with these ultimate problems are 
enormously diverse and seem destined for continuous change, the problems 
themselves are universal. A society that did not furnish its members with beliefs 
and practices that sought to deal with an enormous burden of tragedy unalloyed 
with hostility unrestrained could not flourish, if need, it could survive at all. 
 
Questions 
 

1. How can religion be defined? 
2. What, according to the writer, is ‘experience’ as it is understood by some? 
3. What are the religious ‘solutions’ made in order to overcome the human 

problems? 
4. Why are religions built? 
5. Why are religious beliefs and rites called innovations in the paragraph? 

 
myF - III 
UNIT – III  

     gphpT – m  
          Section A 

 
Fwpg;G : i. xt;nthU tpdhtpw;Fk; 150 nrhw;fSf;F kpfhky; tpilaspf;fTk;  
Note    :   Answer not exceeding 150 words each.  
 
   ii. xt;nthU tpdhtpw;Fk; gj;J kjpg;ngz;fs;  
  Each question carries ten marks.  
 
   iii. nfhLf;fg;gl;Ls;s Ie;J tpdhf;fspy; vitNaDk; ehd;F tpdhf;fSf;F  
  kl;Lk; tpilaspf;fTk;. 
  Answer any four questions out of five questions.  

4× 10 = 40 
 

20. Explain the role of district collector in DRDA.  
khtl;l Cuf Nkk;ghl;L Kfikapy; khtl;l Ml;rpahpd; gq;F gzpapid tpsf;Ff 
 

21. Critical Appraisal on women’s participation in PRI’s. 
jkpof cs;shl;rp mikg;Gfspy; ngz;fspd; gq;fspg;igg; gw;wp Muha;f 
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22. Give a brief note on Inter State Council 
khepyq;fSf;F ,ilNaahd xUq;fpizg;G FO Fwpj;J rpWFwpg;G jUf 
 

23. Bring out the distribution of textile industries in Tamil Nadu. 
 jkpo;ehl;bd; [Tsp njhopw;rhiyfs; gw;wp Fwpg;G tiuf 
 
24. Write a brief note on Mandal Commission? 

kz;ly; FOtpd; Kf;fpa ghpe;Jiufs; ahit? 
 

gphpT – M  
Section - B 

Fwpg;G:  
 

i. xt;nthU tpdhtpw;Fk; 250 nrhw;fSf;F kpfhky; tpilaspf;fTk;  
Answer not exceeding 250 words each.  

 
ii. xt;nthU tpdhtpw;Fk; gjpide;J kjpg;ngz;fs;  

Each question carries Fifteen marks.  
 

iii. nfhLf;fg;gl;Ls;s ehd;F tpdhf;fspy; vitNaDk; %d;W tpdhf;fSf;F kl;Lk; 
tpilaspf;fTk;. 
Answer any three questions out of four questions.  

3 × 15 = 45 
 
25. The Constitution of India is remarkable for many outstanding features which 

distinguishes it from other Constitutions. Discuss with suitable example.  
,e;jpa murpayikg;G rl;lk; kw;w ehLfspd; murpayikg;G rl;lq;fspypUe;J 
jdpj;J jpfo;tjw;fhd gy rpwe;j mk;rq;fisf; nfhz;Ls;sJ. ,tw;iw chpa 
cjhuzq;fNshL tpthjpf;fTk;.  

26. Discuss the powers and functions of the President of India. 
    ,e;jpa FbauRj; jiythpd; mjpfhuk; kw;Wk; gzpfis tpthjp. 

 
27. List out the various committees of Indian Parliament. 
 ,e;jpa ghuhSkd;wj;jpd; gy;NtW FOf;fis tpsf;Ff 
 
28. Explain the powers and functions of the Election Commission of India 

,e;jpa Njh;jy; Mizaj;jpd; mjpfhuk; kw;Wk; gzpfs; gw;wp tpsf;Ff.  
 

gphpT – <  
Section D 

 
Fwpg;G : i. xt;nthU tpdhtpw;Fk; 250 nrhw;fSf;F kpfhky; tpilaspf;fTk;  
Note    :   Answer not exceeding 250 words each.  
 
   ii. xt;nthU tpdhtpw;Fk; gjpide;J kjpg;ngz;fs;  
  Each question carries Fifteen marks.  
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   iii. nfhLf;fg;gl;Ls;s %d;W tpdhf;fspy; vitNaDk; ,uz;L  
    tpdhf;fSf;F kl;Lk; tpilaspf;fTk;. 
  Answer any two questions out of three questions.  

2 × 15 = 30 
 
29. Give an account of Southwest monsoon and Retreating Monsoon in India. 

njd;Nkw;F gUtfhw;W kw;Wk; gpd;dilAk; gUtfhw;W Mfpatw;wpd; cUthf;fk;> 
Kd;Ndw;wk;> tpisTfs; gw;wp tphpthf vOJf 

 
30. What is Mitigation? What are the various mitigation efforts to be undertaken in 

case of  
Nghplh; Fiwj;jy; vd;why; vd;d?  gpd;tUk; epfo;Tfspd; NghJ Nkw;nfhs;sgl 
Ntz;ba Nghplh; Fiwg;G eltbf;iffs; gw;wp tpsf;fp vOJf 

 
1. Cyclone (#whtsp)  
2. Earthquake (epyeLf;fk; 
3. Floods (nts;sk;) 
4. Drought (twl;rp) 
5. Landslide (epyr;rhpT) 

 
31. Explain in detail the various Geographical factors that affect population 

distribution in India. 
,e;jpahtpy; kf;fs;njhif gutiy ghjpf;Fk; gy;NtW Gtpapay; fhuzpfis 
tphpthf tpsf;Ff. 
 
 

gphpT – M  
Section B 

(jkpopy; kl;Lk; tpilaspf;fTk;)  
 

Fwpg;G : i. xt;nthU tpdhtpw;Fk; 250 nrhw;fSf;F kpfhky; tpilaspf;fTk;  
   ii. xt;nthU tpdhtpw;Fk; gjpide;J kjpg;ngz;fs; 

      iii. nfhLf;fg;gl;Ls;s %d;W tpdhf;fspy; vitNaDk; ,uz;L  
   tpdhf;fSf;F kl;Lk; tpilaspf;fTk;. 
 

2× 15 = 30 
 
32. Evaluate the contributions made by the Vijayanagara rulers for the development 

of Temple architecture in Tamil Country.  
jkpof Nfhapw; fl;blf;fiy tsh;r;rpapy; tp[aefu kd;dh;fspd; gq;fspg;gpid 
kjpg;gpLf.  

 
33. Mention the musical instruments during Sangam Age. 

rq;ffhy ,irf;fUtpfs; gw;wpf; Fwpg;gpLf. 
 
34. Write about the art of sculpture in Tamil Nadu. 

jkpofr; rpw;gf;fiy Fwpj;J vOJf. 
 

 
gphpT - < 
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SECTION – D  
(Should be answered only in English)  

Note    :   i. Answer not exceeding 250 words each.  
  ii. Each question carries fifteen marks.  
  iii. Answer any two questions out of three questions.  

 
2× 15 = 30 

 
 
35. As a consultant to Road Transport Corporation of your city write a report on the 

causes of road traffic congestion in your city focusing on causes and solutions. 
 

36. Write a report to the editor of a newspaper about the deteriorating standard of 
behaviour of college students suggesting some positive solutions and highlighting 
the importance of moral instruction to students. 

 
37. A new indoor gymnasium has recently been constructed and inaugurated at APJ 

International School at Goa. As a special correspondent of ‘The Hindu’ draft a 
report in 100-words on the hyamnasuum and he inauguration ceremony. 

 
     gphpT – M  
          Section - B 

 
Fwpg;G : i. xt;nthU tpdhtpw;Fk; 250 nrhw;fSf;F kpfhky; tpilaspf;fTk;  
Note    :   Answer not exceeding 250 words each.  
   ii. xt;nthU tpdhtpw;Fk; gjpide;J kjpg;ngz;fs;  
  Each question carries fifteen marks.  
   iii. nfhLf;fg;gl;Ls;s ehd;F tpdhf;fspy; vitNaDk; %d;W  
    tpdhf;fSf;F kl;Lk; tpilaspf;fTk;. 
  Answer any three questions out of four questions.  

3× 15 = 45 
 

38. ‘Tamil Nadu provides for a pro-active and dynamic environment for industrial 
development.’ – Comment 
‘jkpo;ehL> njhopy; Nkk;ghl;bw;F cfe;j kw;Wk; rhjfkhd #oiy toq;FfpwJ’ – 
fUj;Jiuf;f 

 
39. Elaborately discuss the e-governance initiatives in Tamil Nadu 

jkpo;ehl;by; kpd; MSif njhlh;ghf vLf;fg;gl;Ls;s Kaw;rpfis tphpthf tpthjp. 
 

40. Discuss in detail, how 73rd and 74th amendment acts have empowered the local self 
government. 
73tJ kw;Wk; 74tJ rl;lj;jpUj;jk;> cs;shl;rp murhq;fq;fis ve;jstpw;F 
tYg;gLj;jpAs;sJ?  

 
41. Examine in detail the implementation of community development programme in 

India. 
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,e;jpahtpy; rKjha tsh;r;rpj; jpl;lq;fs; eilKiwg;gLj;jg;gLk; Kiwapid 
tphpthf Muha;f 

 

 

 

 

 

 


